CLAYTON COUNTY WATER AUTHORITY

Request for Bid

ANNUAL CONTRACT FOR ASPHALT PATCHING WORK

Bid Opening: Wednesday, June 1, 2016 at 3:00 p.m. (local time)

1600 Battle Creek Road, Morrow, GA 30260

ADDENDUM #1

Dated: May 25, 2016

Acknowledgment of receipt of this addendum **MUST BE SIGNED AND INCLUDED IN YOUR RESPONSE TO THE RFB**.

QUESTIONS:

1. Can you please provide us with any bid tabulations (including individual line items and renewal increases or decreases) for Asphalt Paving and Patching Bids or Contracts after July 2010?

Answer:

In 2010, the awarded vendors were: Benton Georgia as the Primary Contractor, and A&S Paving as the Secondary Contractor.

In 2013, the awarded vendors were: DAF Concrete as the Primary Contractor, and Benton GA as the Secondary Contractor.

Bid amounts indicating individual line items, as submitted by each bidder in 2010 and 2013, are provided on pages 3 through 8 of this Addendum.

2. How thick is asphalt and how thick is concrete?

Answer:

Depending on the roadway asphalt is usually between 3" - 8" thick. Normal subdivisions 3" - 4", and highways can be 4" - 8". Same for concrete – typical driveways/sidewalks are 4" but commercial can be up to 12".

3. 4B. Removal and replacement of settled areas with concrete base. How thick is the concrete base?

Answer:

Concrete can be 4" to 12" depending on road (County Road or State Road).

CLAYTON COUNTY WATER AUTHORITY

Request for Bid

ANNUAL CONTRACT FOR ASPHALT PATCHING WORK

Bid Opening: Wednesday, June 1, 2016 at 3:00 p.m. (local time) 1600 Battle Creek Road, Morrow, GA 30260

ADDENDUM #1

4. I was wondering if I can use a company that has already applied for the SLBE certification but have not received it yet. I'm going to bid for this contract and wanted to know if I can still use that company.

Answer:

Yes, a company that has a pending SLBE certification with CCWA may be used as a proposed subcontractor/supplier for the bid response. However, the proposed subcontractor/supplier must be certified prior to the award of the bid by our Board to receive any SLBE incentives.

SIGNATURE	COMPANY NAME
DATE	

BENTON GEORGIA – 2010 BID PRICES

CLAYTON COUNTY WATER AUTHORITY

Request for Proposal

ASPHALT PATCHING WORK

PROPOSAL OPENING: TUESDAY, JUNE 15, 2010 at 2:30 p.m. (local time)

PROPOSAL FORM

The state of the s				
ITEM	EST. QUANTITY	UNIT PRICE	TOTAL	
Asphalt Patching and Concrete Base – patch less than 200 square feet (ITEM 1)	500 SQ. FT.	* 18.00	\$ 9,000,00	
Asphalt Patching and Concrete Base – patch 200 square feet and larger (ITEM 1)	500 SQ. FT.	15,00	7500,00	
Asphalt Patching Over Existing Concrete Base - patch less than 200 square feet (ITEM 2)	500 SQ. FT.	4,50	2, 250,00	
Asphalt Patching Over Existing Concrete Base - patch 200 square feet and larger (ITEM 2)	500 SQ. FT.	4,00	2,000,00	
Asphalt Patching Over Existing Crushed Stone Base - patch less than 200 square feet (ITEM 3)	60,000 SQ. FT.	5.25	315,000,00	
Asphalt Patching Over Existing Crushed Stone Base - patch 200 square feet and larger (ITEM 3)	20,000 SQ. FT.	4.87	97,400,00	
Removal & Replacement of settled areas with stone base - patch less than 200 square feet (ITEM 4)	4,000 SQ. FT.	2,00		
Removal & Replacement of settled areas with stone base - patch 200 square feet and larger (ITEM 4)	1,000 SQ. FT.		8,000,00	
Removal & Replacement of settled areas with concrete base - patch less than 200 square feet (ITEM 4)		2.00	2,000,00	
Removal & Replacement of settled areas with concrete base - patch 200 square feet and larger (ITEM 4)	1,000 SQ. FT.	250	2,500,00	
Steel Plate Rental (per unit) for Period until Cut is Paved (ITEM 5)	1,000 SQ. FT.	<u>2,50</u> <u>47,00</u>	2,500,00	
	7 of 20			

BENTON GEORGIA – 2010 BID PRICES

CLAYTON COUNTY WATER AUTHORITY

Request for Proposal

ASPHALT PATCHING WORK

PROPOSAL OPENING: TUESDAY, JUNE 15, 2010 at 2:30 p.m. (local time)

PROPOSAL FORM (Cont'd)

QUANTITY	PRICE	TOTAL
10 SITES	<u> 15.00</u>	650,00
10 SITES	200,00	2,000.00
100 SQ. FT.	2.26	226.00
500 SQ. FT.	5,50	2,750,00
2,000 SQ. FT.	4.87	9,740.00
500 SQ. FT.	2.26	1,130.00
	10 SITES 100 SQ. FT. 500 SQ. FT. 2,000 SQ. FT.	10 SITES 200,00 100 SQ. FT. 2.26 500 SQ. FT. 5,50 2,000 SQ. FT. 4,87

TOTAL PROPOSAL 5 765, ALO

All estimated quantities shown are estimates only and the CCWA reserves the right to purchase more or less, and on an as needed when needed basis based on actual need during the contract term. CCWA will not guarantee any minimum or maximum quantities during the contract term.

STATE ANY DISCOUNTS, SERVICE CHARGES AND MONTHLY ACCOUNT BILLING TERMS. GEORGIA SALES TAX IS NOT APPLICABLE.

Payment for work completed will be paid upon submission of an Invoice and Affidavit of Completion by the contractor. The invoice will be verified by a CCWA representative and any changes/corrections to the invoice will require the contractor to correct and resubmit the invoice. The CCWA will accept invoices on a once per week basis. Payments will be made via US Mail. Work under this contract will be authorized on an "as needed - when needed basis" and will be paid per the unit prices as proposed, and approved, in the proposal. No minimum quantity of work is guaranteed under this contract.

8 of 20

A & S PAVING - 2010 BID PRICES

CLAYTON COUNTY WATER AUTHORITY

Request for Proposal

ASPHALT PATCHING WORK

PROPOSAL OPENING: TUESDAY, JUNE 15, 2010 at 2:30 p.m. (local time)

PROPOSAL FORM

ITEM	EST. QUANTITY	UNIT PRICE	TOTAL
Asphalt Patching and Concrete Base – patch less than 200 square feet (ITEM 1)	500 SQ. FT.	12.00	
Asphalt Patching and Concrete Base – patch 200 square feet and larger (ITEM 1)	500 SQ. FT.	12.00	
Asphalt Patching Over Existing Concrete Base - patch less than 200 square feet (ITEM 2)	500 SQ. FT.	3.25	
Asphalt Patching Over Existing Concrete Base - patch 200 square feet and larger (ITEM 2)	500 SQ. FT.	3.25	\$ 1,625.00
Asphalt Patching Over Existing Crushed Stone Base - patch less than 200 square feet (ITEM 3)	60,000 SQ. FT.	6.10	\$306,000.00
Asphalt Patching Over Existing Crushed Stone Base - patch 200 square feet and larger (ITEM 3)	20,000 SQ. FT.	5.10	D (02,000.00
Removal & Replacement of settled areas with stone base - patch less than 200 square feet (ITEM 4)	4,000 SQ. FT.	12.75	\$ 61,000.00
Removal & Replacement of settled areas with stone base - patch 200 square feet and larger (ITEM 4)	1,000 SQ. FT.		\$ 12,750.00
Removal & Replacement of settled areas with concrete base - patch less than 200 square feet (ITEM 4)	1,000 SQ. FT.		\$ 12,750.00
Removal & Replacement of settled areas with concrete base - patch 200 square feet and larger (ITEM 4)	1,000 SQ. FT.	12.75	3
Steel Plate Rental (per unit) for Period until Cut is Paved (ITEM 5)	12 UNITS	40.00	\$ 480.00
	7 of 20		

A & S PAVING - 2010 BID PRICES

CLAYTON COUNTY WATER AUTHORITY

Request for Proposal

ASPHALT PATCHING WORK

PROPOSAL OPENING: TUESDAY, JUNE 15, 2010 at 2:30 p.m. (local time)

PROPOSAL FORM (Cont'd)

ITEM	EST. QUANTITY	UNIT PRICE	TOTAL
Steel Plate Placement, Maintenance and Removal of Contractor Owned Plate (ITEM 5)	10 SITES	55.00	\$550.00
Removal and Return of CCWA Owned/Placed Steel Plate (ITEM 6)	10 SITES		\$ 2,000.00
Additional Asphalt in 1" Increments per Sq. Foot for items 1-4 (ITEM 7)	100 SQ. FT.	1.50	\$ 150.00
Restoration of stamped/dyed asphalt areas (ITEM 8)	500 SQ. FT.	1445	\$ 7,225.00
Restoration requiring mechanical spreaders (3" depth) per square foot (ITEM 9)	2,000 SQ. FT.	3.00	\$ 6,000.00
Additional Asphalt in 1" increments per Sq. Foot for (ITEM 9)	500 SQ. FT.	1.00	\$ 500.00

TOTAL PROPOSAL \$ 529,405.00

All estimated quantities shown are estimates only and the CCWA reserves the right to purchase more or less, and on an as needed when needed basis based on actual need during the contract term. CCWA will not guarantee any minimum or maximum quantities during the contract term.

STATE ANY DISCOUNTS, SERVICE CHARGES AND MONTHLY ACCOUNT BILLING TERMS. GEORGIA SALES TAX IS NOT APPLICABLE.

Payment for work completed will be paid upon submission of an Invoice and Affidavit of Completion by the contractor. The invoice will be verified by a CCWA representative and any changes/corrections to the invoice will require the contractor to correct and resubmit the invoice. The CCWA will accept invoices on a once per week basis. Payments will be made via US Mail. Work under this contract will be authorized on an "as needed – when needed basis" and will be paid per the unit prices as proposed, and approved, in the proposal. No minimum quantity of work is guaranteed under this contract.

8 of 20

DAF CONCRETE – 2013 BID PRICES

Division 2		Bid D	quiremen
Section 5: Bid Form		Did Ne	quireiner
All unit prices are on a per unit cos	t basis.		
ITEM	EST. QUANTITY	UNIT	Extend
Asphalt Patching and Concrete Base (ITEM 1)	1000 SQ. FT.	\$16,50	
Asphalt Patching Over Existing Concrete Base (ITEM 2)	1000 SQ. FT.	94,45	\$4.450
Asphalt Patching Over Existing Crushed Stone Base (ITEM 3)	100,000 SQ. FT.	\$5,20	
Removal & Replacement of settled areas with stone base (ITEM 4-A)	10,000 SQ. FT.	\$ 1,50	\$15,00
Removal & Replacement of settled areas with concrete base (ITEM 4-B)	2,000 SQ. FT.	\$ 200	2400
Steel Plate Rental (per unit) for Period until Cut is Paved (ITEM 5-A)	12 UNITS	£45	\$540
Steel Plate Placement, Maintenance and Removal of Contractor Owned Plate (ITEM 5-B)	10 SITES	\$6.3	\$ 63
Removal and Return of CCWA Owned/Placed Steel Plant (ITEM 6)	35 SITES	\$150	\$5,25
Additional Asphalt in 1" Increments per Sq. Foot for items 1-4 (ITEM 7)	2500 SQ. FT,	\$ 2,20	
Restoration of stamped/dyed asphalt areas (ITEM 8)	1500 SQ. FT.	\$540	
Restoration requiring mechanical spreaders (3" depth) per square foot (ITEM 9-A)	2,000 SQ. FT.	\$4.80	,
Additional Asphalt in 1" increments per Sq. Foot for (ITEM -9B)	500 SQ. FT.	\$ 2,30	
Additional Crushed Stone Placement, 6" thick increments per Sq. Foot for (ITEM 10)	500 SQ. FT.	\$3,50	
TOTAL BID AMOUNT		\$ 592	470
All quantities shown are estimates only or less, and on an as needed when i	and CCWA reserve	es the right to po	urchase more

BENTON GEORGIA – 2013 BID PRICES

Clayton County Water Authority Annual Asphalt Patching Services

May 2013

Division 2

Bid Requirements

Section 5: Bid Form

All unit prices are on a per unit cost basis.

ITEM	EST. QUANTITY	UNIT	Extended Amount
Asphalt Patching and Concrete Base (ITEM 1)	1000 SQ. FT.	20.27	20,270.00
Asphalt Patching Over Existing Concrete Base (ITEM 2)	1000 SQ. FT.	4.97	4970.00
Asphalt Patching Over Existing Crushed Stone Base (ITEM 3)	100,000 SQ. FT.	8.55	855,000.00
Removal & Replacement of settled areas with stone base (ITEM 4-A)	10,000 SQ. FT.	2.20	22,000.00
Removal & Replacement of settled areas with concrete base (ITEM 4-B)	2,000 SQ. FT.	2.75	5.500.00
Steel Plate Rental (per unit) for Period until Cut is Paved (ITEM 5-A)	12 UNITS	51.97	623.64
Steel Plate Placement, Maintenance and Removal of Contractor Owned Plate (ITEM 5-B)	10 SITES	22220 X4-	716.10
Removal and Return of CCWA Owned/Placed Steel Plant (ITEM 6)	35 SITES	225.23	VARMONISMAN I I I I I I I I I I I I I I I I I I I
Additional Asphalt in 1" Increments per Sq. Foot for items 1-4 (ITEM 7)	2500 SQ. FT.	2.48	6,200,00
Restoration of stamped/dyed asphalt areas (ITEM 8)	1500 SQ. FT.	6.05	
Restoration requiring mechanical spreaders (3" depth) per square foot ITEM 9-A)	2,000 SQ. FT.	5.35	9,075.00
Additional Asphalt in 1" increments per Sq. Foot for (ITEM -9B)	500 SQ. FT.	2.48	10,700.00
Additional Crushed Stone Placement, 5" thick increments per Sq. Foot for ITEM 10)	500 SQ. FT.	1.98	1243.00
TOTAL BID AMOUNT		\$ 945,17	10.79

All quantities shown are estimates only and CCWA reserves the right to purchase more or less, and on an as needed when needed basis based on actual need during the

18 of 38